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100 Questions

Que. 1 In this question, a sentence has been divided into four parts (A), (B), (C) and (D). Read the
sentence to find out whether there is any grammatical error in it. The error if any, will be in one

part of the sentence. Mark that part as your answer. If there is no error, the answer is ‘No error’. Ignore
the error of punctuation if any.
The room was (A) crowded with (B) small pieces of furnitures, (C) cupboards, and little tables. (D)

Correct Option - 3

(A)1.
(B)2.
(C)3.
(D)4.
No error5.

Que. 2 In this question, a sentence has been divided into four parts (A), (B), (C) and (D). Read the
sentence to find out whether there is any grammatical error in it. The error if any, will be in one

part of the sentence. Mark that part as your answer. If there is no error, the answer is ‘No error’. Ignore
the error of punctuation if any.
He thought (A) of the number of times (B) that himself (C) had been a coward.(D)

Correct Option - 3

(A)1.
(B)2.
(C)3.
(D)4.
No error5.

Que. 3 In this question, a sentence has been divided into four parts (A), (B), (C) and (D). Read the
sentence to find out whether there is any grammatical error in it. The error if any, will be in one

part of the sentence. Mark that part as your answer. If there is no error, the answer is ‘No error’. Ignore
the error of punctuation if any.
He ate (A) greedily the chicken sandwich (B) in the manner of (C) a starving man. (D)

Correct Option - 2

(A)1.
(B)2.
(C)3.
(D)4.
No error5.



Que. 4 In this question, a sentence has been divided into four parts (A), (B), (C) and (D). Read the
sentence to find out whether there is any grammatical error in it. The error if any, will be in one

part of the sentence. Mark that part as your answer. If there is no error, the answer is ‘No error’. Ignore
the error of punctuation if any.
I bought (A) some Mughal silver charming ornaments (B) at the Hauz Khas market (C) and enjoyed visiting the
ruins yesterday. (D)

Correct Option - 2

(A)1.
(B)2.
(C)3.
(D)4.
No error5.

Que. 5 In this question, a sentence has been divided into four parts (A), (B), (C), and (D). Read the
sentence to find out whether there is any grammatical error in it. The error if any, will be in one

part of the sentence. Mark that part as your answer. If there is no error, the answer is ‘No error’. Ignore
the error of punctuation if any.
Mr. Roy was admitted (A) to hospital yesterday (B) with a gunshot wound (C) on his leg.(D)

Correct Option - 5

(A)1.
(B)2.
(C)3.
(D)4.
No error5.

Que. 6 In this question, a sentence has been divided into four parts (A), (B), (C) and (D). Read the
sentence to find out whether there is any grammatical error in it. The error if any, will be in one

part of the sentence. Mark that part as your answer. If there is no error, the answer is ‘No error’. Ignore
the error of punctuation if any.
There's a morning (A) Rajdhani train that (B) making the trip from (C) Kolkata to Delhi in less than ten hours.
(D)

Correct Option - 3

(A)1.
(B)2.
(C)3.
(D)4.
No error5.

Que. 7 Fill in the blank with the correct word.
The problems associated with abandonment are so common, with such grave ________, that it is

classified as gender-based violence.



Correct Option - 4

Reciprocation1.
Result2.
Propaganda3.
Ramifications4.
Intimidation5.

Que. 8 Fill in the blanks with the correct word from the options given below:
The virus had ________ none of us knew existed.

Correct Option - 3

freedom 1.
terms2.
powers3.
agony4.
safe5.

Que. 9 Fill in the blank with the correct word from the options give below.
As the snow melted, the roads became very ________.

Correct Option - 1

slippery 1.
shallow2.
defective3.
impolite4.
capable5.

Que. 10 Fill in the blank with the correct word from the options given below. 
The tortoise jumped into the lake with ________ of becoming a sea turtle.

Correct Option - 4

loss1.
series2.
basis3.
dreams4.
answers5.

Que. 11 Fill in the blank with the correct answer from the options given below: 
It was a strange fact, however, that talent and skill, if ________ for too long, cease to dazzle. 



Correct Option - 3

suspended 1.
spent2.
displayed 3.
surrounded 4.
commanded 5.

Que. 12 Fill in the blanks with the correct word from the options given below. 
The novel was a great _________ and he gave up his job to pursue literature. 

Correct Option - 5

control 1.
failure2.
charity 3.
variety 4.
success5.

Que. 13 Given below is a word, followed by three sentences which consist of that word. Identify the
sentences(s) which best express(es) the meaning of the word. Choose option 5 ‘None of the above’

if the word is not suitable in any of the sentences.
SQUASH
A. The spectators had to be squashed into the hall for want of space.
B. We are in no position to squash the simmering tensions between the two communities.
C. He squashed his car into the tree.

Correct Option - 1

Both A and B1.
Both B and C2.
Only C3.
Only  B4.
None of the above5.

Que. 14 Given below is a word, followed by three sentences which consist of that word. Identify the
sentence(s) which best express(es) the meaning of the word. Choose option 5 ‘None of the above’

if the word is not suitable in any of the sentences.
DROWSY
A. Although he's quite old he's still very drowsy.
B. He had regained consciousness but was drowsy and uncomfortable.
C. I'd just woken up and was still drowsy.

Only A1.
Only B2.
Both B and C3.



Correct Option - 3

Both A and C4.
None of the above5.

Que. 15 Given below is a word, followed by three sentences which consist of that word. Identify the
sentences(s) which best express(es) the meaning of the word. Choose option 5 ‘None of the above’

if the word is not suitable in any of the sentences.
ANALYSIS
A. He did a wonderful analysis of the subject after the exam. 
B. The man felt dejected seeing the analysis of his new car. 
C. A perfect analysis of the land is very essential before a counteroffensive. 

Correct Option - 2

Both A and B1.
Both A and C2.
Only A 3.
Only B4.
None of the above. 5.

Que. 16 Given below is a word, followed by three sentences which consist of that word. Identify the
sentences(s) which best express(es) the meaning of the word. Choose option 5 ‘None of the above’

if the word is not suitable in any of the sentences.
VULGAR 
A. She laughed in a loud, vulgar manner that distressed the guests. 
B. The crowd felt happy and vulgar after cheering for their team. 
C. He had a disarming voice and a calm vulgar look that put her at ease. 

Correct Option - 4

Both A and B1.
Both B and C2.
Only C 3.
Only A 4.
None of the above. 5.

Que. 17 Given below is a word, followed by three sentences which consist of that word. Identify the
sentences(s) which best express(es) the meaning of the word. Choose option 5 ‘None of the above’

if the word is not suitable in any of the sentences.
CAUTIOUS 
A. He was such a reckless and cautious driver that nobody wanted to get in his car. 
B. The cautious zebra failed to notice the approaching lion and was mindlessly jumping around in the field. 
C. Her cautious attitude irked her mother as she knew that one day it would get her into trouble. 

Both A and B 1.



Correct Option - 5

Both B and C 2.
Only B 3.
Only C 4.
None of the above. 5.

Que. 18 Read the passage given below and answer the questions that follow. 
Fish are one of the most highly utilized and intriguing vertebrate taxa by humans; they are harvested 

from wild stocks as part of global fishing industries, grown under intensive aquaculture conditions, are the most 
common pet and are widely used for scientific research. But fish are seldom afforded the same level of 
compassion or welfare as warm-blooded vertebrates. Part of the problem is the large gap between people's 
perception of fish intelligence and the scientific reality. This is an important issue because public perception 
guides government policy. The perception of an animal's intelligence often drives our decision whether or not to 
include them in our moral circle. 
From a welfare perspective, most researchers would suggest that if an animal is sentient, then it can most likely 
suffer and should therefore be offered some form of formal protection. There has been a debate about fish 
welfare for decades which centres on the question of whether they are sentient or conscious. The implications for 
affording the same level of protection to fish as other vertebrates are great, not least because of fishing-related 
industries. Here, the passage reviews the current state of knowledge of fish cognition starting with their sensory 
perception and moving on to cognition. The review reveals that fish perception and cognitive abilities are 
abundant, often matching or exceeding other vertebrates. A review of the evidence for pain perception strongly 
suggests that fish experience pain in a manner similar to the rest of the vertebrates. Although scientists cannot 
provide a definitive answer on the level of consciousness for any non-human vertebrate, the extensive evidence 
of fish behavioral and cognitive sophistication and pain perception suggests that best practice would be to lend 
fish the same level of protection as any other vertebrate.

Why are fish not afforded the same level of compassion as other vertebrates? 

Correct Option - 3

Fish live in water therefore they are not considered as vertebrates. 1.
The wide variety of fish makes it impossible to offer compassion. 2.
There is a large gap between people's perception of fish intelligence and scientific reality. 3.
Fish are highly aggressive creatures that should be used only for food. 4.
None of the above. 5.

Que. 19 What helps humans to decide whether or not to include an animal in their moral circle? 

Correct Option - 4

The amount of loyalty that the animal is willing to show.1.
The visible aggressive nature of the animal. 2.
Classification on the basis of taxonomy. 3.
The perception of an animal's intelligence. 4.
None of the above. 5.

Que. 20 The debate about fish welfare is centered on? 



Correct Option - 1

The question of whether they are sentient or conscious. 1.
The question of whether they have a moral circle or not. 2.
The question of whether they are vertebrates or invertebrates.3.
All of the above4.
None of the above. 5.

Que. 21 Which of the given statement is false according to the passage.

Correct Option - 4

Fish perception and cognitive abilities are abundant. 1.
Fish are harvested from wild stocks as part of global fishing industry. 2.
Researches suggest that if an animal is sentient it can most likely suffer. 3.
Fish do not experience pain in a manner similar to that of other vertebrates. 4.
None of the above. 5.

Que. 22 What does the passage review? 

Correct Option - 4

The level of compassion and welfare offered to fish. 1.
The gap between intelligence and reality. 2.
The definitive answer to human consciousness. 3.
The current state of knowledge of fish cognition. 4.
None of the above. 5.

Que. 23 Which of the given statement is true according to the passage. 

Correct Option - 2

The cognitive ability of fish makes it one of the most sought after vertebrates. 1.
Fish are grown under intensive aquaculture conditions. 2.
Cognitive abilities of vertebrates are higher than that of invertebrates. 3.
Fish are immune to pain and have high cognitive tolerance. 4.
None of the above. 5.

Que. 24 What is the synonym of the word intriguing mentioned in the passage. 

Gripping1.
Boring2.
Worrying3.
Frightening4.
Confusing5.



Correct Option - 1

Que. 25 What is the synonym of the word abundant mentioned in the passage. 

Correct Option - 1

Plentiful1.
Scarce2.
Paltry 3.
Meagre4.
Rare5.

Que. 26 Rearrange the following five sentences (A), (B), (C), (D) and (E) in a proper sequence
so as to form a meaningful paragraph, and then answer the questions given below.

A. Being native or foreign is society's enduring parameter of judging belonging.
B. People judge others by their skin, gender, caste, religion and class.
C. Unfortunately, ecology is also now a realm of judgment, beyond mere objective labelling.
Conservationists label trees as alien and exotic. 
D. Some criticised the felling and sympathised with the forest. Others joined the tree-shaming or
remained silent about the felling.
E. And the Nilgiri administration recently judged a forest as dispensable on that count.

Which of the following sentence is FIRST in the above given passage?

Correct Option - 2

A1.
B2.
D3.
E4.
C5.

Que. 27 Which of the following sentence is SECOND in the above given passage?

Correct Option - 1

A1.
E2.
D3.
C4.
B5.

Que. 28 Which of the following sentence is THIRD in the above given passage?

A1.
B2.



Correct Option - 5

D3.
E4.
C5.

Que. 29 Which of the following sentence is FOURTH in the above given passage?

Correct Option - 3

A1.
B2.
E3.
D4.
C5.

Que. 30 Which of the following sentence is FIFTH(LAST) in the above given passage?

Correct Option - 3

B1.
C2.
D3.
A4.
E5.

Que. 31 In an exam, the average marks of 40 students is 75. Afterwards, it is found that the marks of 2 students
are taken wrong as 56 and 38 instead of 65 and 69. Find the correct average.

Correct Option - 3

741.
722.
763.
804.
None of these5.

Que. 32 A can finish a work in 18 days and B can do the same work in 15 days. B worked for 10 days and left
the job. In how many days can A alone finish the remaining work? 

Correct Option - 1

61.
52.
83.
44.
none of these5.



Que. 33 The simple interest on a certain sum of money at the rate of 5 p.a. for 8 years is Rs. 840. The rate of
interest for which the same amount of interest can be received on the same sum after 5 years is 

Correct Option - 2

7%1.
8%2.
9%3.
10%4.
none of these5.

Que. 34 The present ages of A and B are 36 and 50 years respectively if after k years the ratio of their ages will
be 3 : 4, then the value of k is 

Correct Option - 3

31.
42.
63.
74.
none of these5.

Que. 35 Equal amounts of water were poured into two empty jars of different capacities, which made one jar
1/4 full and the other jar 1/3 full. If the water in the jar with lesser capacity is then poured into jar with

greater capacity, then the part of the larger jar filled with the water is

Correct Option - 1

1/2 1.
7/122.
1/43.
1/34.
none of these5.

Que. 36 Direction: Read the following information carefully and answer the following questions.
A class has total 60 students. All the students likes only one of 3 flowers i.e Lotus, Sunflower and

Rose. Number of boys is 5/7 times the number of girls. Ratio of number of girls who likes Rose and total number
of girls is 2 : 7. Number of boys who likes Sunflower is 60% of the number of girls who likes Rose. Number of
girls who likes Sunflower is 2.5 times the number of boys who likes Sunflower. Number of girls who likes
Sunflower is 150% of the number of boys who likes Lotus.

Find the total number of girls in the class.

301.
252.
353.
404.



Correct Option - 3

None of these5.

Que. 37 Find the ratio of number of boys and number of girls who likes Lotus.

Correct Option - 4

1 : 21.
3 : 52.
2 : 13.
1: 14.
None of these5.

Que. 38 Find the total number of students who likes Rose.

Correct Option - 1

191.
182.
213.
224.
None of these5.

Que. 39 Number of boys who likes Rose is what % of the number of girls who likes Lotus?

Correct Option - 2

85%1.
90%2.
75%3.
95%4.
None of these5.

Que. 40 What is the difference between number of boys who likes Lotus and Sunflower and number of girls
who likes Sunflower and Rose?

Correct Option - 3

81.
72.
93.
64.
None of these5.

Que. 41 In each of the following number series, the wrong number is given, find out that number.



5, 9, 18, 33, 65, 129

Correct Option - 3

331.
652.
183.
94.
1295.

Que. 42 In each of the following number series, the wrong number is given, find out that number.
15, 17, 19, 25, 32, 43

Correct Option - 2

171.
192.
323.
434.
255.

Que. 43 In each of the following number series, a wrong number is given. Find out that number.
5, 6, 14, 40, 105, 230

Correct Option - 1

401.
52.
143.
1054.
2305.

Que. 44 In each of the following number series, a wrong number is given. Find out that number.
540, 540, 270, 135, 22.5, 4.5

Correct Option - 4

5401.
2702.
22.53.
1354.
4.55.

Que. 45 In each of the following number series, the wrong number is given, find out that number.
120, 80, 65, 50, 45, 42.5



Correct Option - 3

451.
42.52.
653.
804.
1205.

Que. 46 What will come in the place of the question mark ‘?’ in the following question?

(3.9 + 4.1) × 2.5 + 9 – 25 = ?2

Correct Option - 3

51.
32.
23.
44.
75.

Que. 47 What will come in the place of the question mark ‘?’ in the following question?
60% of 90 + 12.5% × 64 – 39 + 16 = ?

Correct Option - 2

351.
392.
383.
414.
None of these5.

Que. 48 What will come in the place of the question mark ‘?’ in the following question?
[(306/17) × 12] ÷ 6 + 18 – 30 = ?

Correct Option - 4

221.
212.
233.
244.
None of these5.

Que. 49 What will come in the place of the question mark ‘?’ in the following question?

(123 – 51) ÷ 3 + 33 – ? = 239

3401.



Correct Option - 3

2392.
3473.
4524.
None of these5.

Que. 50 What will come in the place of the question mark ‘?’ in the following question?

(33.98 + 28.02 + 2)1/2 × 3.2 – 11.6 = ?

Correct Option - 1

141.
162.
123.
114.
None of these5.

Que. 51 Direction: Study the data carefully and answer the following questions.
Following is the production data by 4 persons during 2 months.

Production by A in January in what % more than production by B in January (Approx)?

Correct Option - 3

82%1.
76%2.
70%3.
90%4.
65%5.



Que. 52 Find the average of total production done in February month.

Correct Option - 1

2.851.
2.892.
2.653.
2.964.
None of these5.

Que. 53 Find the ratio between production done by C and D together in January to production done by B and C
together in February.

Correct Option - 2

37 : 321.
33: 312.
28 : 293.
30 : 314.
None of these5.

Que. 54 Find the difference between total production done in January to that of February (in Kg).

Correct Option - 4

2000 kg1.
2100 kg2.
2500 kg3.
2200 kg4.
Nine of these5.

Que. 55 Find the total production by A in February month and by C in January month.

Correct Option - 3

5 tonnes1.
5.8 tonnes2.
6 tonnes3.
4.8 tonnes4.
None of these5.

Que. 56 What will come in the place of the question mark ‘?’ in the following question?
855.8 + 89.2 –  (19 × 12) + (64 ÷ 4) = ?

7321.
7332.



Correct Option - 2

6453.
6444.
None of these5.

Que. 57 What will come in the place of the question mark ‘?’ in the following question?
16.66% of 96 + 37.5% of 200 – (27 × 2) = ?

Correct Option - 1

371.
402.
513.
314.
None of these5.

Que. 58 What will come in the place of the question mark ‘?’ in the following question?

[(5/7) + (13/21)] × 62 + 50 – 76 = ?

Correct Option - 4

211.
232.
253.
224.
None of these5.

Que. 59 What will come in the place of the question mark ‘?’ in the following question?
18.68 + 17.54 – 12.22 + 38.02 = ?

Correct Option - 4

54.881.
37.982.
32.683.
62.024.
None of these5.

Que. 60 What will come in the place of the question mark ‘?’ in the following question?

50 × 42 ÷ 12 + 92 – 60 = ?2

181.
172.
143.



Correct Option - 3

124.
None of these5.

Que. 61 By selling 9 pen for a rupee, a shopkeeper incurred a loss of 4%. To make a gain of 44%, the number
of pen to be sold for a rupee is

Correct Option - 5

31.
42.
53.
74.
65.

Que. 62 A man rows down a river 30 km in 6 hrs with the stream and returns in 10 hrs. The rate at which he
rows in still water is 

Correct Option - 2

3 km/h1.
4 km/h2.
5 km/h3.
6 km/h4.
none of these5.

Que. 63 A train 290 m long is running at a speed of 36 km per hour, then it will cross a bridge of length 180 m
in 

Correct Option - 4

37 s1.
40 s2.
45 s3.
47 s4.
none of these5.

Que. 64 30 men take 25 days to dig a pond. If the pond would have been dug in 15 days, then what is the
number of men to be employed?

451.
602.
503.
574.
none of these5.



Correct Option - 3

Que. 65 The monthly salaries of A and B together amount to Rs. 40000. A spends 85% of his salary and B
spends 95% of his salary. If now their savings are the same, then the salary of A is 

Correct Option - 1

Rs. 10,0001.
Rs. 120002.
Rs. 160003.
Rs. 180004.
none of these 5.

Que. 66 Direction: Read the following information carefully and answer the question that follows:
Eight persons - A, B, C, D, E, F, G  and H were born in different months of January to August of the

same year but not necessarily in the same order. Not more than one person is born in a month. G was born in a
month that has 31 days but not in the month of May. There is a gap of one month between G and A. A born
somewhere after G. B was born in the month which has the least number of days.  E was born immediately after
C. Number of persons born before E is one more than the number of person born after E. F born before D. There
is a gap of two months between A and H.

How many persons born before C?

Correct Option - 3

One1.
Two2.
Three3.
Four4.
No one5.

Que. 67 Who born in the month of January?

Correct Option - 3

A1.
B2.
G3.
D4.
F5.

Que. 68 Which of the following persons born in the month which has 30 days?

A, G1.
C, G2.
H, D3.
C, H4.



Correct Option - 4

H, B5.

Que. 69 Who born immediately after F?

Correct Option - 4

A1.
G2.
C3.
D4.
H5.

Que. 70 Which of the following statement is true?

Correct Option - 3

G was born in the month of March.1.
There are two persons between A and E.2.
E was born immediately before H. 3.
H was born in the month of July.4.
None is correct.5.

Que. 71 Direction: In the question below are given three statements followed by two conclusions numbered I
and II. You have to take the given statements to be true even if they seem to be at variance with

commonly known facts. Read all the conclusions and then decide which of the given conclusions logically
follows from the given statements disregarding commonly known facts.

Statements:
Some apples are orange.
No oranges are fruit.
Only a few fruits are bananas.
Conclusions:
I. Some apples are fruit.
II. Some fruits are bananas.

Correct Option - 2

Only 1 follows1.
Only 2 follows2.
Either 1 or 2 follows3.
Both 1 and 2 follows4.
None follows5.

Que. 72 Direction: In the question below are given three statements followed by two conclusions numbered I
and II. You have to take the given statements to be true even if they seem to be at variance with



commonly known facts. Read all the conclusions and then decide which of the given conclusions logically
follows from the given statements disregarding commonly known facts.
Statements:
Some red are blue.
No red are black.
All black are pink.
Conclusions:
I. Some pink are black.
II. Some red are pink.

Correct Option - 1

Only 1 follows1.
Only 2 follows2.
Both 1 and 2 follows3.
Either 1 or 2 follows4.
Neither 1 nor 2 follows.5.

Que. 73 Direction: In the question below are given three statements followed by two conclusions numbered I
and II. You have to take the given statements to be true even if they seem to be at variance with

commonly known facts. Read all the conclusions and then decide which of the given conclusions logically
follows from the given statements disregarding commonly known facts.
Statements:
No dogs are cats.
Only a few cats are wild.
All wild are animal.
Conclusions:
I. All cats are animal.
II. Some cats are not animal.

Correct Option - 4

Only 1 follows1.
Only 2 follows.2.
Both 1 and 2 follows.3.
Either 1 or 2 follows.4.
Neither 1 nor 2 follows.5.

Que. 74 Directions: In the question below are given three statements followed by two conclusions. You have to
take the given statements to be true even if they seem to be at variance with commonly known facts.

Read all the conclusions and then decide which of the given conclusions logically follows from the given
statements disregarding commonly known facts.
Statements:
I. Some chairs are tables
II. Only a few tables are bed



III. No bed is furniture
Conclusions:
I. Some chairs are bed
II. Some furniture are tables

Correct Option - 5

Only conclusion I follows1.
Only conclusion II follows2.
Both conclusion I and II follows3.
Either conclusion I or II follows4.
Neither conclusion I nor II follows5.

Que. 75 Directions: In the question below are given three statements followed by two conclusions. You have to
take the given statements to be true even if they seem to be at variance with commonly known facts.

Read all the conclusions and then decide which of the given conclusions logically follows from the given
statements disregarding commonly known facts.
Statements:
I. Some mobiles are calculators
II. Some calculators are pens
III. Only a few pens are scales
Conclusions:
I. Some mobiles being pens is a possibility
II. Some pens are not scales

Correct Option - 5

Only conclusion I follows1.
Only conclusion II follows2.
Either conclusion I or II follows3.
Neither conclusion I nor II follows4.
Both conclusion I and II follows5.

Que. 76 Eight persons - A, B, C, D, E, F, G and H live in a building of 4 floors and 2 flats - Flat 1 and Flat 2.
Flat 1 is to the west of Flat 2 and Flat 1 of Floor 1 is immediately below Flat 1 of Floor 2 and Flat 2 of

Floor 1 is immediately below Flat 2 of Floor 2 and so on. There are two floors between B and C. B lives above C
and they live in different flats. A lives west of D but on the odd number of floor. F lives immediately above C. No
person lives west of G who lives on the fourth floor. H does not live on floor number one.

Who lives just East of F ?

A1.
C2.
D3.
H4.
B5.



Correct Option - 4

Que. 77 On which Floor B lives?

Correct Option - 4

First1.
Second2.
Third3.
Fourth4.
None5.

Que. 78 Who lives just below H ?

Correct Option - 5

A1.
B2.
C3.
D4.
E5.

Que. 79 Which of the following pair is correct ? 

Correct Option - 2

Floor - 2 Flat - 1 - H1.
Floor - 3 Flat - 2 - D2.
Floor - 4 Flat - 2 - G3.
Floor - 1 Flat - 2 - C4.
Floor - 3 Flat - 1 - F5.

Que. 80 Which Floor Flat Combination is correct for E ?

Correct Option - 1

Floor 1 Flat 21.
Floor 2 Flat 12.
Floor 3 Flat 23.
Floor 4 Flat 14.
Floor 2 Flat 25.

Que. 81 Direction: The following questions are based on the given five words. Study the given information
carefully and answer the following questions.

YXZ  BAC  JFG  ROP GON



If each consonant is changed to the previous letter of the given words and vowel remains the same, then how
many words have more than one vowel?

Correct Option - 3

One1.
Two2.
Three3.
Four4.
Five5.

Que. 82 How many letters are in the alphabet series between third letter of the second word from left and
second letter of the second from the right end ? 

Correct Option - 4

Eight1.
Nine2.
Ten3.
Eleven4.
Twelve5.

Que. 83 If first and second letter of the each word is interchange then how many words starts with a vowel ?

Correct Option - 3

One1.
Two2.
Three3.
Four4.
Five5.

Que. 84 If all the given words are arranged in the alphabetical order from left to right within the words, then
which one will be fourth from left end ?

Correct Option - 4

YXZ1.
BAC2.
JFG3.
ROP4.
GON5.

Que. 85 If 'E' is added in the last of the each word then how many meaningful word will form ?

One1.



Correct Option - 3

Three2.
 Two3.
Four4.
Five5.

Que. 86 Direction: Study the following information carefully and answer the given questions.
In a certain code language:

'he is very fast' is coded as 'pa za kt pu
'this is computer' is coded as 'fp pu qs'
'machine is fast' is coded as 'pu kt tq'
'I like computer' is coded as 'fp sp el'

What would be the code of 'computer' ?

Correct Option - 3

el1.
pu2.
fp3.
kt4.
za5.

Que. 87 What is the code of 'machine'?

Correct Option - 1

tq1.
kt2.
pa3.
pu4.
Can not be determined.5.

Que. 88 What is the code of 'he'?

Correct Option - 3

pa1.
za2.
Either 1 or 23.
kt4.
pu5.

Que. 89 Direction: Read the following information carefully and answer the question that follows:



Twelve persons are sitting in two parallel rows containing six person each in such a way that there is an equal 
distance between adjacent persons. In row-1 P, Q, R, S, T and U are seated and all of them are facing South. In 
row-2 A, B, C, D, E and F are seated and all of them are facing North. Therefore, in the given seating 
arrangement each member seated in a row faces another member in the other row.
Q sits at one of the end of the row. One person sits between P and Q. R sits opposite to D. A sits immediately 
right of D. Three persons sit between S and T and S does not sit at any end of the line. U is not an immediate 
neighbour of T. E sits opposite to S. C sits second to the right of B. Either B or C sits at end of the row. P does 
not face B and T does not face C. F sits second to the right of E.

Who sits at end of the row?

Correct Option - 3

P1.
C2.
A3.
U4.
R5.

Que. 90 Who sits second to the right of U?

Correct Option - 2

Q1.
S2.
P3.
T4.
R5.

Que. 91 Four of the five are alike in certain way and form a group. Find the one which does not belong to the
group?

Correct Option - 5

Q, B1.
P, C2.
U, F3.
T, A4.
P, F5.

Que. 92 Who sits immediate right of the person who faces D?

Q1.
U2.
P3.
T4.
S5.



Correct Option - 2

Que. 93 Which of the following pairs sit at end of the rows?

Correct Option - 1

Q - A1.
T - C2.
A - P3.
Q - R4.
None of these5.

Que. 94 In a certain code language "all means some" is coded as "578" and "few means some" is coded as
"358" and "all means not" is codes as "874". What is the code of "all"?

Correct Option - 4

51.
82.
33.
74.
45.

Que. 95 Direction: Read the following information carefully and answer the question that follow:
There are 6 members of a family in a gathering – P, Q, R, S, T and U.

S is the son of Q. Q is the daughter of R. P is the daughter of T. P and Q are siblings. U is the father of S.

How is S related to T?

Correct Option - 2

Son1.
Grandson2.
Grand daughter3.
Grand father4.
Can not be determined5.

Que. 96 Who is the father of Q?

Correct Option - 5

T1.
R2.
P3.
U4.
Can not be determined.5.



Que. 97 Directions: In the following question assuming the given statement to be true, find which of the
conclusion among the given conclusions is / are definitely true and then give your answer

accordingly.        
Statement: X > Z < Y ≤ V; P > K > S = Q ≥ V 
Conclusion:
I) K > X
II) Y < P

Correct Option - 2

Only I is true.1.
Only II is true.2.
Either I or II is true.3.
Neither  I nor II is true.4.
Both I and II are true.5.

Que. 98 Directions: In the following question assuming the given statements to be True, find which
of the conclusion among given conclusions is / are definitely true and then give your

answers accordingly.
Statements:  U ≤ W ≥ R > S ; T > S = V
Conclusions:
I. W < V
II. T <  V

Correct Option - 4

Only I is true1.
Only II is true2.
Either I or II is true3.
Neither I nor II is true4.
Both I and II is true5.

Que. 99
Directions: - In these Questions, Relationship between different elements is shown in the statements. 

These statements are followed by 2 Conclusions. Marks Answer as Option Given.

Statement: P ≥ Q = R ≥ N < S

Conclusions:

I) S > Q
II) P ≥ N

Only I follow1.
Only II follow2.
Both I and II follow3.



Correct Option - 2

Either I or II follow4.
None follow5.

Que. 100 If it is possible to make a meaningful word with the 2nd, the 3  and the 8   letters of the word
‘ABSOLUTE’, then which of the following will be the 3  letter from the left of that word? If more

than one such word can be formed give ‘X’ as the answer and if no such word can be formed give ‘Y’ as the
answer.

Correct Option - 2

rd th

rd

X1.
Y2.
E3.
S4.
B5.
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